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1. Given 25 =32,
a) What is the base? &

\ 4| EXTRA PRACTICEE'

Objective 4.1 To understand integral exponents

b) What is the soiunen’____22

¢) What is the exponent? __ D

2. Given 10° = 1000,

a) What is the power? LOCKDS
b) What is the exponent? e
c) What is the base? LS

Determine the value of the following powers.
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a) 6= __ O\, b) 8 = 25 c) 3= o
d) 4=___ H e) 72= HG fH 5°= g%
g) 1= __lOg h) 2= 3 i) 25= =}
) 4=__35C k) 9°= 2 ) 0= O
Find the missing exponent.
a) 10"=10000 ®= _“t  b) 5%=625%=__ H ¢ 3m=p7u_ 3
d) 2"=128 "= e 7"=1 ®- O f) 10%=10 "= __ |
g) 4%=64 "= & h) 13"=169 "= _ i) 2%=1 "= >
j) 6%=1296 "= 4 k) 20"=400"=__ 2 | gu=512®- 2
. Determine the base.
a) | =1 b) _ 5 =125 ¢) 14  *-196
d) 02 “=64 e) 4 4 H _2  °-p4
g) 10 °=100000 n_3  ‘-si ) M =04
D 4 “=1e K _A  *=243 ) 10 *=100
. Write in expanded factor form.
a) 3*=__ _AXAx Ax b) 72 = . :?.
€) m=_MN~> Mx M xyN x (N d a*=__ QA G -2
e) 52=__Hr"5 n b=_N0
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7. Write each of the following numbers in exponential form.

5,

3

a) 49= 4

b) 125=_K

d) 32=__ A"

E) 27 = \%3

Express each word as gfwer of 10.

a) Athousand. __|(5 b} Ahundred .
thousand. V(O

b &
d) Onemillion. _ 1> e) One tenth. i :

Complete the property of the exponents.
1. Given a base m and an integer exponent a > 1,

m = M. m.mMm . R LA

n 169=_ 1%

(<]
¢) One. WA

-
f) One thousandth._ | —

2. Given a base m and the expon%i'ﬁ‘ ‘:ﬁﬂ“

\

O = YN

3. Given a base m = 0 and the exponent 0,

me = Mo =

4. Given a base m= 0 and an integer exponenta > 0,
m_ a o \/{‘ﬂh

5. Given a base m > 0 and the exponent 1/2,
‘\/}_

Mm’E = \ﬂ:—‘(\—

10. Determine the power of the following expressions.
a) = & b) 5'= A
d) 62=__ /o0, e) 9= %
g) 2'= o h) 5°= \
) 182=__ 4 k) 2¢= W
m) 3°= \ n) 2= s

11. Determine the power of the following expressions.
a) (32= q b) (3)=__<I
d (3)=_=-3 e (3=_"2F

12. What can you conclude from the results obtained in 117

&) BP= |
) 7°=_ 343
) 10"=__ Y
) 6= L

o) 1002 = __|®

189

¢) (3=
f (3=
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